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1. THE (A) 20T, BXRTBRROATWEZ L% (7) ~ (F) OhrbTx
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(7)  Finland conducts an academic assessment for people aged 15 every three years.
(4) Women outperform men academically due to differences in educational methods.
(Y)  There is an enormous gender gap in certain subjects among Finnish students .
(£) Many researchers visit Finland to investigate its educational system.
() 20% of Finnish students score at the highest reading levels in the test.
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(7) To demonstrate that male students are more academically successful than female students in

metropolitan areas.

(4 ) To demonstrate that residents of large cities have better academic performance than those in

rural areas.

() To account for the possibility that the nationwide tendency may not apply to all regions in the

United States.

(x) To illustrate that the difference in academic performance due to gender differences is just as

obvious as the difference due to economic inequalities.

(#) To prove that education plays a very important role for economically disadvantaged people in

segregated cities like Chicago.
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